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Short answer questions/problems

1.  Using the information on the attached financial statements, calculate the inventory turnover ratio for Guidant Corporation for 2002.
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2.  List (using words not symbols) the other ratios should you calculate (in addition to inventory turnover) if you want to examine the effectiveness with which Guidant manages its assets?

Total asset turnover, average collection period (or receivables turnover).

3.  What would you compare your answer(s) in question 2?

Industry averages, historical ratios for firm, also compare ACP to credit terms

4.  How does accounting net income violate the fundamental principles of finance?
Move revenues/expenses away from periods in which cash flows occur without adjusting for the time value of money.

5.  Three months from today, you plan to make the first of a series of equal, monthly deposits into a savings account.  You plan to continue these deposits through 2 years from today.  Two years and 7 months from today, you plan to make the first of 15 annual withdrawals from this account.  You plan to allow these withdrawals to increase by 3% each.  What sequence of calculations (ex. Present value of annuity, present value of a single sum, then future value of a growing annuity) would allow you to solve for your final withdrawal?  What would you solve for (ex.  payment, present value, interest rate, etc.)?

future value of annuity, present value of lump sum, present value of growing annuity, future value of lump sum (solve for future value).

6.  The rate on your savings account is 1.1% per year compounded daily.  What is the effective interest rate per day on this account?
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Answer questions 7 and 8 on the same graph.  Clearly label which part of the graph answers question 7 and which answers question 8.
7.  You are considering investing in Eli Lilly, Wal-Mart, and Dell (the three are listed in order of increasing expected return and standard deviation of returns).  Sketch a reasonable set of portfolios that it would be possible to create from these 3 stocks and of the optimal combination of Eli Lilly, Wal-Mart, and Dell assuming you can borrow or lend at the risk-free rate.  
Description of graph:  The 3 stocks are points with Dell being highest and furthest to the right and up and Eli Lilly being lowest and furthest to left.  The feasible set is an area that extends to the left of the individual points.  A line extends from the risk-free rate to the point of tangency on the feasible set.  The optimal point is the point of tangency.
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8.   Show the expected return and standard deviation you face if you borrow an amount equal to your wealth and invest the proceeds in the optimal combination of Eli Lilly, Wal-Mart, and Dell.
Description of graph:  point is on the tangent line above the point of tangency….the distance between the tangent point and the “answer” point is equal to the distance between the tangency point and the intercept.

9.  Assume that on Thursday, June 5th, you sold 7 puts on Intel with a strike price of 22.50 that expire in July.  What was the total cash flow when you sold the puts (use a “+” to indicate an inflow and a “-“ to indicate an outflow)?

+1155 = +7(100)(1.65)

10.  Assume that time has passed and that the puts expire right now.  Assume also that the price per share of Intel has fallen by $1 per share since you sold the puts.  Finally, assume you do not currently own shares of Intel and do not plan to own shares by the end of today.  What total cash flow will occur today (use a “+” to indicate an inflow and a “-“ to indicate an outflow)?
-1162 = (20.84 – 22.50)(7)(100)

Problems/Essays

1.  Assume you want to calculate the Harnishfeger EVA for Guidant Corporation.  Use the information on page 3 of this exam and on the attached financial statements to calculate the Capital used in calculating Guidant’s EVA for 2002.

Operating cash
437.8
plus:
Receivables
631.9

Inventory
267.6

Other Current Assets
48.5

P&E
620.6

Intangible Assets
759.7
=426.6+189.8+143.3

Capitalized R&D
1014.4
=381.4+.8(353.2)+.6(323)+.4(287.5)+.2(208.3)

Other Assets
49.1
less:
Current liabilities
(489.1)
=60.1+116.9+164.6+147.5
Capital

3340.5
2.  You have just deposited $250,000 into a savings account that pays an interest rate of 4.5% per year compounded continuously.  Ten months, you plan to make the first of a series of semiannual withdrawals from this account.  You plan for your withdrawals to increase by 5% each, and you also plan to continue making these withdrawals through 6 years and 4 months from today.  How large can you make your first withdrawal?


[image: image3.wmf](

)

04603

.

1

1

045

.

=

-

=

e

r



[image: image4.wmf](

)

(

)

02276

.

1

04603

.

1

2

1

2

1

=

-

=

r



[image: image5.wmf](

)

26

.

778

,

253

04603

.

1

000

,

250

12

4

4

=

=

mo

V



[image: image6.wmf]÷

÷

ø

ö

ç

ç

è

æ

÷

ø

ö

ç

è

æ

-

÷

÷

ø

ö

ç

ç

è

æ

-

=

12

1

02267

.

1

05

.

1

1

05

.

02276

.

26

.

778

,

253

C


=> C1 = 18,640.63
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3.  Assume you have calculated the return on eBay and the S&P 500 for each of the 4 past years as follows:


Return on:

Year
eBay
S&P 500
2002
1
-23

2001
102
-13

2000
-47
-10

1999
56
20

Based on this data, what is your best estimate of eBay’s beta?
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4.  You are considering purchasing a long term put on Amazon Inc. that expires in 2 years with an exercise price of $35 and you are trying to figure out how much you would be willing to pay for your put.  As a result, you have collected the following information regarding Amazon, its stock, and options on its stock:
Market value (per share) of Amazon’s:  stock = $33.25, assets = $43
Book value (per share) of Amazon’s:  assets = $5.26, equity = -$3.58, debt = $8.84
Standard deviation on:  Amazon’s stock = 83%, call on Amazon with same terms as your put = 149%, the put on Amazon you are considering buying = 128%, Amazon’s assets = 41%.

The average maturity on Amazon’s debt is 5 years and the average life of Amazon’s assets is 8 years.

The APRs (assuming continuous compounding) on U.S. Treasury strips varies according to maturity as follows:  1-year = 1.02%, 2-year = 1.16%, 3-year = 1.51%, 4-year = 1.94%, 5-year = 2.29%, 6-year = 2.68%, 7-year = 3.02%, 8-year = 3.31%, 9-year = 3.51%.

What is the most you should be willing to pay for the put?
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Additional Information on Guidant Corporation:

1.  Net interest expense subtracts interest income from the interest expense.  The interest expense paid is given below:
                                                                     YEAR ENDED DECEMBER 31,

                                                     2002        2001         2000        1999        1998

                                              -------------------------------------------------------------

     Interest expense                              $ 23.9      $ 46.6       $ 62.8      $ 60.8      $ 17.6

2.  Inventories are stated at the lower of cost, determined by the first-in, first-out method, or market.
3.  Research and Development expenses prior to 2000 were:  

Year
1999
1998
1997
1996
1995
1994
1993
1992
R&D
323.0
287.5
208.3
164.6
142.8
138.3
129.1
117.9

4.  INVESTMENTS: Investments in debt and equity securities that have readily determinable fair values are classified and accounted for as available-for-sale or held-to-maturity. Held-to-maturity investments consist principally of government debt securities that management has the intent and ability to hold until maturity. These securities are carried at amortized cost. Available-for-sale securities are carried at fair value with unrealized gains and losses recorded as a separate component of accumulated other comprehensive income. Realized gains are calculated based on the specific identification method and recorded in "other, net" on the income statement. All other equity securities are accounted for under the cost method. 
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GUIDANT CORPORATION

CONSOLIDATED STATEMENTS OF INCOME 

In millions, except per share data 

	                                                             YEAR ENDED DECEMBER 31

                                                   -----------------------------------------

                                                      2002            2001            2000

                                                   -----------------------------------------

Net sales ........................................  $3,239.6        $2,707.6        $2,548.7

Cost of products sold ............................     797.0           662.3           604.1

                                                   ---------       ---------       ---------

      Gross profit ...............................   2,442.6         2,045.3         1,944.6

Research and development .........................     437.5           381.4           353.2

Purchased in-process research and development ....      55.2            15.0              --

Sales, marketing and administrative ..............     993.2           835.4           748.8

Interest, net ....................................       4.0            31.5            54.7

Royalties, net ...................................      54.3            41.7            50.5

Amortization .....................................      13.2            43.9            44.0

Other, net .......................................      19.6             4.2           (16.5)

Litigation benefit, net ..........................    (105.2)          (10.0)          (23.7)

Foundation contribution ..........................      40.0            10.0            10.8

Cook charge ......................................      60.6              --              --

Restructuring charge .............................      31.0              --              --

Special product charge ...........................        --            25.0              --

Impulse Dynamics charge ..........................        --              --           127.0

                                                   ---------       ---------       ---------

Income before income taxes .......................     839.2           667.2           595.8

Income taxes .....................................     227.4           183.2           221.5

                                                   ---------       ---------       ---------

      Net income .................................    $611.8          $484.0          $374.3

                                                   =========       =========       =========

Earnings per share--basic ........................     $2.03           $1.61           $1.24

                                                   =========       =========       =========

Earnings per share--diluted ......................     $2.00           $1.58           $1.21

                                                   =========       =========       =========
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GUIDANT CORPORATION 

CONSOLIDATED BALANCE SHEETS 

In millions, except share data 

	                                                        DECEMBER 31

                                                     2002          2001

                                                   ----------------------

                  ASSETS

CURRENT ASSETS

Cash and cash equivalents ...................      $1,014.8        $437.8

Short-term investments ......................          10.3           8.9

Accounts receivable, net of allowances

        of $32.8 (2002) and $26.6 (2001) ....         699.3         631.9

Inventories .................................         303.9         267.6

Deferred income taxes .......................         210.0         153.6

Prepaid expenses and other current assets ...          64.9          48.5

                                                   --------      --------

        Total Current Assets ................       2,303.2       1,548.3

OTHER ASSETS

Goodwill, net of allowances

      of $159.4 (2002) and $143.3 (2001) ....         516.2         426.6

Other intangible assets, net of allowances

      of $61.9 (2002) and $64.4 (2001) ......          95.6         189.8

Deferred income taxes .......................          53.9          43.8

Investments .................................          46.8          38.6

Sundry ......................................          50.5          49.1

                                                   --------      --------

                                                      763.0         747.9

Property and equipment, net .................         649.9         620.6

                                                   --------      --------

                                                   $3,716.1      $2,916.8

                                                   ========      ========
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GUIDANT CORPORATION 

CONSOLIDATED BALANCE SHEETS 

In millions, except share data 

	                                                                       DECEMBER 31

                                                                     2002        2001

                                                                   --------------------

        LIABILITIES AND SHAREHOLDERS' EQUITY

CURRENT LIABILITIES

Accounts payable ..............................................      $70.1       $60.1

Employee compensation .........................................      192.3       116.9

Other liabilities .............................................      348.3       164.6

Income taxes payable ..........................................      248.3       147.5

Short-term debt ...............................................        6.8       300.0

                                                                  --------    --------

        Total Current Liabilities .............................      865.8       789.1

NONCURRENT LIABILITIES

Long-term debt ................................................      361.7       460.0

Other .........................................................      166.8       121.9

                                                                  --------    --------

                                                                     528.5       581.9

COMMITMENTS AND CONTINGENCIES..................................         --          --

SHAREHOLDERS' EQUITY

Preferred stock:

        Authorized shares:      50,000,000

        Issued shares:                none.....................         --          --

Common stock, no par value:

        Authorized shares:   1,000,000,000

        Issued shares:         308,992,000 (2002)

                               309,019,000 (2001)..............      226.1       226.1

Additional paid-in capital.....................................      200.7       182.5

Retained earnings..............................................    2,002.3     1,390.5

Deferred cost, ESOP............................................      (24.2)      (30.5)

Treasury stock, at cost:

        Shares:                  2,388,000 (2002)

                                 3,866,000 (2001)..............      (92.0)     (149.0)

Accumulated other comprehensive income.........................        8.9       (73.8)

                                                                  --------    --------

                                                                   2,321.8     1,545.8

                                                                  --------    --------

                                                                  $3,716.1    $2,916.8

                                                                  ========    ========




_1116940758.unknown

_1116941255.unknown

_1116941492.unknown

_1116941635.unknown

_1201539548.unknown

_1116941633.unknown

_1116941411.unknown

_1116941161.unknown

_1116941228.unknown

_1116940824.unknown

_1116941141.unknown

_1116940366.unknown

_1116940740.unknown

_1116940186.unknown

_1116927094.unknown

